Scheme 1. GW*", B3LYP/6-31+G(d)

Electronic energy =-894.1553709 hartree
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Scheme 1. Structure II. B3LYP/6-31+G(d)

Electronic energy = -894.1339673 hartree
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Scheme 1. TS (II-I1I). B3LYP/6-31+G(d)

Electronic energy = -894.109974 hartree

— 300 — — O\ QN —

3.537611
4.916856
5.009501
4.168566
2.197150
1.945661
1.072361
0.465200
0.188112
1.260476
0.792980
-0.057827
-1.089018
0.221856
-1.399169
-2.239047
-0.786743
-2.627819
-3.197616
-2.551120
-3.077688
-4.432086
-3.805608
-1.827367
-5.159536
-4.724983
-4.062103
-5.689477
2.434842
3.205167
3.456287

-4.247689

5.000816
-4.407322
-3.241867
-5.321086
-4.460311
-3.262844
-2.280085
-2.525680

-0.214549
-1.699603
-1.290861
0.842778
-0.368606
-1.341438
0.551627
0.491248
0.039432
2.096093
-0.642733
0.906666
-0.619691
2.721495
-2.000503
-0.043457
-2.777740
-2.256404
-1.077250
1.267942
-3.165662
-0.866764
1.495648
2.069401
-1.662749
0.457721
2.495431
0.657218
2.666382
2.013893
-2.911701

-2.048518
-1.895603
-1.245962
-0.294505
-0.638972
-1.853974

0.492232
-0.319849
-0.965362

-0.249297
0.369826
-1.333862
-0.111424
-0.172780
-0.376528
0.018748
-0.892169
1.232214
0.196736
1.836059
1.854287
0.835538
0.332014
1.017716
0.214257
1.457371
0.549812
0.036721
-0.215094
0.564558
-0.540081
-0.802308
-0.086906
-0.670079
-0.960664
-1.137570
-1.417650
0.186100
0.052178
-1.787774

-0.688031
-1.352830
0.520812
0.685434
0.509040
1.433538
1.720488
-0.213682
-0.980043

S2



— —_ 0= AP, O AT, AN~ = N DN

Scheme 1. Structure III. B3LYP/6-31+G(d)

Electronic energy = -894.1449734 hartree
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Scheme 1. Structure IV. B3LYP/6-31+G(d)

Electronic energy =-705.5445333 hartree
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Scheme 1. Structure TS(IV-V). B3LYP/6-31+G(d)

Electronic energy =-705.517557 hartree
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Scheme 1. Structure V. B3LYP/6-31+G(d)
Electronic energy = -705.583691 hartree
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Figure 4, structure I B3LYP/6-31+G(d)

Electronic energy =-837.5801913 hartree
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Figure 7, structure VI, B3LYP/6-31+G(d)
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Figure 7, structure VII, B3LYP/6-31++G(d,p)

Electronic energy = -415.7485397 hartree
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Figure 7, structure VIII, B3LYP/6-31++G(d,p)

Electronic energy =-416.3676234 hartree
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Figure 7, structure IX, B3LYP/6-31++G(d,p)

Electronic energy =-302.3910705 hartree
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Figure 7, structure X, B3LYP/6-31++G(d,p)

Electronic energy =-302.3517911 hartree
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Figure 8. Structure XI, B3LYP/6-31+G(d)
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Electronic energy =-700.1972767 hartree
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Figure 8. Structure TS(XI-product), B3LYP/6-31+G(d)

Electronic energy =-700.1843705 hartree
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